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ANSWER KEY 
 

Rubric Part A 
Score Description 

1 Student response includes the following components: 
 

 Computation component = 1 point 

o Correct answer, B 

 

0 Student response is incorrect or irrelevant. 

Rubric Part B 

Score Description 

2 Student response includes the following  2 components: 
 

 Computation component = 1 point 

o Correct fraction of yellow paint remaining, 
1

6
 or equivalent 

 Reasoning component = 1 point 

o Valid explanation of how a number line could be used to find 

the answer  
 

Sample Student Response: 
4

6
 - 
3

6
 = 

1

6
 quart remaining yellow paint 

Make a number line from 0 – 1.  Divide the number line into 6 equal parts.  

Then start on the 4
th

 part and move to the left 3 parts to get the answer of 
1

6
 . 

 

OR other valid explanation. 

1 Student response includes 1 of the above elements. 

0 Student response is incorrect or irrelevant. 
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